



Naam: _____

Datum: _____ Score: _____

$$(-1) - 2 =$$

$$(-3) - 1 =$$

$$(-10)^{(-2)} + (-5) =$$

$$8^{(-2)} - (-8) =$$

$$3^{(-1)} - 6 =$$

$$(-7)^2 + 6 =$$

$$6^{(-1)} - 10 =$$

$$(-7)^0 - 7 =$$

$$(-2)^2 + (-5) =$$

$$(-4)^2 - (-9) =$$

$$(-10)^2 + 1 =$$

$$9^{(-2)} - 8 =$$

$$4^{(-2)} - 4 =$$

$$(-4)^2 + (-2) =$$

$$(-4)^2 - 3 =$$

$$3^0 + (-2) =$$

$$(-1)^2 + 6 =$$

$$7^{(-1)} - 4 =$$

$$10^{(-2)} - (-9) =$$

$$(-5)^2 + (-6) =$$



Naam: _____

Datum: _____ Score: _____

$$(-1) - 2 = (-3)$$

$$(-3) - 1 = (-4)$$

$$(-10)^{(-2)} + (-5) = \left(-\frac{499}{100}\right) = \left(-4\frac{99}{100}\right)$$

$$8^{(-2)} - (-8) = \frac{513}{64} = 8\frac{1}{64}$$

$$3^{(-1)} - 6 = \left(-\frac{17}{3}\right) = \left(-5\frac{2}{3}\right)$$

$$(-7)^2 + 6 = 55$$

$$6^{(-1)} - 10 = \left(-\frac{59}{6}\right) = \left(-9\frac{5}{6}\right)$$

$$(-7)^0 - 7 = (-6)$$

$$(-2)^2 + (-5) = (-1)$$

$$(-4)^2 - (-9) = 25$$

$$(-10)^2 + 1 = 101$$

$$9^{(-2)} - 8 = \left(-\frac{647}{81}\right) = \left(-7\frac{80}{81}\right)$$

$$4^{(-2)} - 4 = \left(-\frac{63}{16}\right) = \left(-3\frac{15}{16}\right)$$

$$(-4)^2 + (-2) = 14$$

$$(-4)^2 - 3 = 13$$

$$3^0 + (-2) = (-1)$$

$$(-1)^2 + 6 = 7$$

$$7^{(-1)} - 4 = \left(-\frac{27}{7}\right) = \left(-3\frac{6}{7}\right)$$

$$10^{(-2)} - (-9) = \frac{901}{100} = 9\frac{1}{100}$$

$$(-5)^2 + (-6) = 19$$